At lost three poirts  on everj ne Gn o projective plum\
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Given o line .Z_,, let's consider the possibilifies when We look ot L and
the  four points honded +o VS bﬁ axiom I

L does mot include anj of those four points
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3L inclodes +wo of the four peints
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m cant nterseck L in/ Since no three of the four ore on the Swme line.
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“Suppove. thak o projechve plune has N23 points on every line.
* Q. How W\O\V\\kj points (and  how muny lnes) cue there™ in Such « p[ane7
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How wony lines gre there in a plane. With n Poir\‘xs n - every (ne?
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* N poinfs on L each has n lines possing thicugh it
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